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cÖPwjZ MwZ mgxKiY
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Part 2: 20 ms
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u = 20 ms
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, v = 50 ms
–1

, t = 3 seconds, a = 10 ms
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ms‡kvabK…Z cÖ¯—vweZ MwZ mgxKiY: 

s = 150 (Part 1) s = 120 (Part 2)

1 v = v1 + a(t – 1) 

2
2

1 vv

t

s 
  

3 s = v1t + ½at
2
 – ½at 

4 v
2
 = v1

2
 + 2as – a(v1 + v)

v1 = v, t a, s 

v1

v1

w¯’i Ae¯’vi †¶‡Î:

v1 = 10 ms
–1

t = 5 seconds, a = 10 ms
–2 

v = 50 ms
–1

 s = 150

s = v1t + ½at
2
 – ½at 

= 10  5 + ½  10  5
2
 – ½  10  5  

= 150 

      
2

1 vv

t

s 
  

 1505
2

5010

2

1 






 








 
 t

vv
s  

      v
2
 = v1

2
 + 2as – a(v1 + v) 

150
102

)5010(101050

2

)( 22
1

2

1

2










a

vvavv
s  

MwZkxj Ae¯’vi †¶‡Ît 20 ms
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cÖ¯—vweZ bZzb MwZ mgxKiY cÖwZcv`b: 

v1 = v =   

t = a 
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v1 + v = 2v1 + a(t – 1) 

   v = v1 + a(t – 1)    [Proved]……….(iii) 
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